Adigao até 100 (horizontal)
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Nome: Encontro: Data: Pontuagdo:
57T+778 = 45+ 17 =
19+25= 79+ 37 =
79+2 = 81 +54 =
53+14= 19+99 =
45+7 = 53+26=
86 +90 = 64+ 77 =
14451 = 3]+ 6=
20+23 = 56+5=
88 +91 = 61 +15=
98 + 98 = 24 +24 =
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Adigao até 100 (horizontal)

Nome: Encontro: Data: Pontuagao:
57+78 =135 45+ 17 =62
19+25=44 79+37 =116
79 +2 =8I 81 +54 =135
53+14 =67 19+99 =118
45+7=152 53+26="179
86+90 =176 64 +77 = 141
14 +51 = 65 31+6=37
20+23=43 56 +5 =061
8 +91 =179 61 +15=76
98 +98 = 196 24 +24 =48
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